Converting Between cm and m (A)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
[a+] o : — — e
5 b 2 5 §i i3 § = 3 £
B S Z =2 wi: +o 8 E S S
} } } } } . } T } } } } } } } } } }X
G M k h da: i1d ¢ m 2 n
9 8 7 6 5 4 3 2 1i10i-1 2 -3 4 -5 6 -7 -8 -9
Convert 3,415,000 cm to m

Convert 26.58 m to cm

Convert 29,260 cm to m

Convert 230cm to m

Convert 10.1 m to cm

Convert 15.7m to cm

Convert 4292 m to cm

Convert 215,300 cm to m

Convert 9,390,000 cm to m

Convert 319 m tocm
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Converting Between cm and m (A) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5 % o 5§ §: g EE 3 z
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
Convert 3,415,000 cm to m

3,415,000cm =10+ 10 = 34,150 m
Convert 26.58 m to cm

26.58m X 10 X 10 = 2658 cm
Convert 29,260 cm to m
29,260cm =10 =10 = 292.6 m
Convert 230cm to m

230cm +-10+10=2.3m
Convert 10.1 m to cm

10.I1m X 10X 10 = 1010 cm
Convert 15.7m to cm

15.7m X 10X 10 = 1570 cm
Convert 4292 m to cm

4292m X 10 X 10 = 429,200 cm
Convert 215,300 cm to m
215,300cm =10 =10 = 2153 m
Convert 9,390,000 cm to m
9,390,000cm + 10 =+ 10 = 93,900 m
Convert 319 m to cm

319m X 10 X 10 = 31,900 cm
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Converting Between cm and m (B)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 v 2§35 i3 %% 2
& E T 2 5 135 8 E E z
: : - : : > X
G M k h da: 'd ¢ m M n
9 8 7 6 5 4 3 2 150'1-2 3 4 5 6 -7 -8 9

. Convert 0.0719 m to cm

Convert 26,000 cm to m

Convert 82,200 cm to m

Convert 5.358 m to cm

Convert 3.68 m to cm

Convert 0.0099 m to cm

Convert 2493 cm to m

Convert 95,000 cm to m

Convert 2400 cm to m

Convert 0.461 m to cm
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Converting Between cm and m (B) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5 2 e 8 8 13 2 2 S s
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
. Convert 0.0719 m to cm

0.0719m X 10 X 10 = 7.19cm
Convert 26,000 cm to m
26,000cm =10 =10 = 260 m
Convert 82,200 cm to m
82,200cm =-10+10=822m
Convert 5.358 m to cm
5.358m X 10 X 10 = 535.8cm
Convert 3.68 m to cm
3.68m X 10 X 10 = 368 cm
Convert 0.0099 m to cm
0.0099m X 10 X 10 = 0.99 cm
Convert 2493 cm tom
2493cm =10+ 10 = 24.93m
Convert 95,000 cm to m
95,000cm =10+ 10 =950 m
Convert 2400 cm to m
2400cm =10+ 10 =24 m
Convert 0.461 m to cm
0461 m x 10X 10 =46.1cm
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Converting Between cm and m (C)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
' - o)
& % 9 ‘§ 8: 138 & 2 3 s
B S 2 & w' 15 8 E S S
: : —t—t——t > X
G M k h da: 'd ¢ m M n
9 8 7 6 5 4 3 2 1:0:i-1 2 3 -4 -5 -6 -7 -8 -9

. Convert 0.8238 m to cm

Convert 5,070,000 cm to m

Convert 6.889 m to cm

Convert 4.76 m to cm

Convert 0.036 m to cm

Convert 4,830,000 cm to m

Convert 585,900 cm to m

Convert 9,820,000 cm to m

Convert 19.57 m to cm

Convert 110,000 cm to m
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Converting Between cm and m (C) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 v 2§35 i3 %% 2
B E T 2 35 13 8 E E z
: : - : : —» X
G M k h da: 'd ¢ m M n
9 8 7 6 5 4 3 2 1505—1 2 3 4 -5 -6 -7 -8 -9

. Convert 0.8238 m to cm

0.8238m X 10 X 10 = 82.38cm
Convert 5,070,000 cm to m
5,070,000cm = 10 = 10 = 50,700 m
Convert 6.889 m to cm

6.889m X 10 X 10 = 688.9 cm
Convert 4.76 m to cm

476 m X 10 X 10 = 476 cm
Convert 0.036 m to cm

0.036 m X 10 X 10 = 3.6 cm
Convert 4,830,000 cm to m
4,830,000cm = 10 =+ 10 = 48,300 m
Convert 585,900 cm to m
585,900cm =+ 10 =+ 10 = 5859 m
Convert 9,820,000 cm to m
9,820,000cm + 10 =+ 10 = 98,200 m
Convert 19.57 m to cm

19.57m X 10 X 10 = 1957 cm
Convert 110,000 cm to m
110,000cm = 10 =10 = 1100 m
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Converting Between cm and m (D)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
< o . ! - e =
&, 2 2 8 81 13 £ = S s
B S Z =2 wi: +o 8 E S S
: : ———————— : : > X
G M k h da: i1d ¢ m 2 n
9 8 7 6 5 4 3 2 1i10i-1 2 -3 4 -5 6 -7 -8 -9
. Convert 431 mtocm
Convert 85,600 cm to m
Convert 9.5m to cm
Convert 207,000 cm to m

Convert 417 m to cm

Convert 9356 cm to m

Convert 1100cm to m

Convert 57.38 m to cm

Convert 6300 cm to m

Convert 0.821 m to cm
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Converting Between cm and m (D) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5, b 2 g §: i3 E = 3 £
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1:0:-1 2 3 4 -5 -6 -7 -8 -9
. Convert 431 m to cm

431m X 10 X 10 = 43,100cm
Convert 85,600 cm to m
85,600cm =10 + 10 = 856 m
Convert 9.5m to cm
9.5m X 10X 10 =950cm
Convert 207,000 cm to m
207,000cm =10 =10 = 2070 m
Convert 417 m to cm
417m X 10 X 10 = 41,700 cm
Convert 9356 cm to m
9356cm =+ 10 = 10 = 93.56 m
Convert 1100 cm to m
1100cm +-10+-10=11m
Convert 57.38 m to cm
57.38m X 10 X 10 = 5738 cm
Convert 6300 cm to m
6300cm +-10+-10=63m
Convert 0.821 m to cm
0.821m X 10 X 10 = 82.1 cm
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Converting Between cm and m (E)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
: : i ' ' > X
G M k h da 'd ¢ m 2 n
9876543215-?-'1-2—345—6789
. Convert 0.0046 m to cm

Convert 6.717 m to cm

Convert 39,760 cm to m

Convert 667,000 cm to m

Convert 60,220,000 cm to m

Convert 0.0015m to cm

Convert 36.3 m to cm

Convert 20.97 m to cm

Convert 174 cm to m

Convert 3,426,000 cm to m
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Converting Between cm and m (E) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5 2 e 8 8 13 2 2 S s
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
. Convert 0.0046 m to cm

0.0046 m X 10 X 10 = 0.46 cm
Convert 6.717 m to cm

6.717m X 10 X 10 = 671.7cm
Convert 39,760 cm to m
39,760cm =+ 10 =+ 10 = 397.6 m
Convert 667,000 cm to m
667,000cm = 10 =10 = 6670 m
Convert 60,220,000 cm to m
60,220,000cm =+ 10 = 10 = 602,200 m
Convert 0.0015m to cm
0.0015m X 10 X 10 = 0.15cm
Convert 36.3m to cm

36.3m X 10 X 10 = 3630 cm
Convert 20.97 m to cm

20.97m X 10 X 10 = 2097 cm
Convert 174cm tom

174cm - 10+10=1.74m
Convert 3,426,000 cm to m
3,426,000cm = 10 = 10 = 34,260 m
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Converting Between cm and m (F)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
. ! — o
3 5 ° 5 §i ig g E s z
B S 2 & w' 15 8 E S S
: : - : : > X
G M k h da: 'd ¢ m M n
9 8 7 6 5 4 3 2 150'1 2 3 4 5 6 -7 -8 9

. Convert 0.0748 m to cm

Convert 0.817 m to cm

Convert 75,000 cm to m

Convert 6,730,000 cm to m

Convert 629cm to m

Convert 0.0833 m to cm

Convert 97,630 cm to m

Convert 48,260 cm to m

Convert 0.055m to cm

Convert 0.0017 m to cm
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Converting Between cm and m (F) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5 2 e 8 8 13 2 2 S s
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
. Convert 0.0748 m to cm

0.0748m X 10 X 10 = 7.48 cm
Convert 0.817 m to cm
0.817m X 10 X 10 = 81.7cm
Convert 75,000 cm to m
75,000cm =10+ 10 = 750 m
Convert 6,730,000 cm to m
6,730,000cm = 10 =10 = 67,300 m
Convert 629 cm to m
629cm =~ 10+ 10 = 6.29m
Convert 0.0833 m to cm
0.0833m X 10 X 10 = 8.33cm
Convert 97,630cm to m
97,630cm =10+ 10 =976.3m
Convert 48,260 cm to m
48,260cm = 10 +10 =482.6 m
Convert 0.055m to cm
0.055m X 10 X 10 = 5.5cm
Convert 0.0017 m to cm
0.0017m X 10 X 10 = 0.17cm
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Converting Between cm and m (G)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
' - o)
& % 9 ‘§ 8: 138 & 2 3 s
B S 2 & w' 15 8 E S S
— < : —t—t——t > X
G M k h da: 'd ¢ m M n
9 8 7 6 5 4 3 2 1:0:i-1 2 3 -4 -5 -6 -7 -8 -9

1. Convert 2.2m tocm

2. Convert 4,546,000 cm to m

3. Convert 0.0064 m to cm

4. Convert 145cm tom

5. Convert 21,100cm to m

6. Convert 9547 cm to m

7. Convert 0.18 m to cm

8. Convert 6.171 m to cm

9. Convert 520cm to m

10. Convert 0.19m to cm
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Converting Between cm and m (G) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5 b 2 5 §i i3 § = 3 £
"Bh S Z =2 wi: +o 8 E £ &
: : : : — —t : : —p X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
. Convert 2.2 m to cm

22m X 10X 10 = 220cm
Convert 4,546,000 cm to m
4,546,000cm = 10 =+ 10 = 45,460 m
Convert 0.0064 m to cm
0.0064m X 10 X 10 = 0.64 cm
Convert 145cm tom
145cm +-10+10=145m
Convert 21,100cm to m
21,100cm =10 +-10=211m
Convert 9547 cm to m
9547cm =10+ 10 = 9547 m
Convert 0.18 m to cm
0.18m X 10X 10 = 18cm
Convert 6.171 m to cm
6.171m X 10 X 10 = 617.1 cm
Convert 520cm to m
520cm=10+10=52m
Convert 0.19m to cm
0.19m X 10X 10 =19cm
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Converting Between cm and m (H)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
. ! — o
3 5 ° 5 §i ig g E s z
B S 2 & w' 15 8 E S S
— < : - : : > X
G M k h da: 'd ¢ m M n
9 8 7 6 5 4 3 2 150'1 2 3 4 5 6 -7 -8 9

1. Convert 2778 cm to m

2. Convert 18 m to cm

3. Convert 3520cm to m

4. Convert 0.45m to cm

5. Convert 4,096,000 cm to m

6. Convert 48.2m to cm

7. Convert 722 cm to m

8. Convert 0.0824 m to cm

9. Convert 826 m to cm

10. Convert 3161 cm to m
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Converting Between cm and m (H) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5 % o 5§ §: g EE 3 z
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
. Convert 2778 cm to m

2778cm =+ 10 = 10 = 27.78 m
Convert 18 m to cm

18m X 10 X 10 = 1800 cm
Convert 3520 cm to m
3520cm =+ 10+ 10 =35.2m
Convert 0.45m to cm
045m X 10 X 10 =45cm
Convert 4,096,000 cm to m
4,096,000cm = 10 =+ 10 = 40,960 m
Convert 48.2m to cm
48.2m X 10 X 10 = 4820 cm
Convert 722cm tom
722cm +10+10=7.22m
Convert 0.0824 m to cm
0.0824m X 10 X 10 = 8.24 cm
Convert 826 m to cm

826 m X 10 X 10 = 82,600 cm
Convert 3161 cm tom
316lcm - 10+10=31.61m
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Converting Between cm and m (I)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
. ! — o
3 5 ° 5 §i ig g E s z
B S 2 & w' 15 8 E S S
: : - : : > X
G M k h da: 'd ¢ m M n
9 8 7 6 5 4 3 2 150'1 2 3 4 5 6 -7 -8 9

. Convert 53.8m to cm

Convert 761,000 cm to m

Convert 2,810,000 cm to m

Convert 94,670 cm to m

Convert 0.9202 m to cm

Convert 929cm to m

Convert 44.55m to cm

Convert 215.5m to cm

Convert 897 m to cm

Convert 196cm to m
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Converting Between cm and m (I) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5 % o 5§ §: g EE 3 z
"Bh S Z =2 wi: +o 8 E £ &
: : : : — —t : : —p X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
. Convert 53.8 m to cm

53.8m X 10 X 10 = 5380 cm
Convert 761,000 cm to m
761,000cm =10 =10 = 7610 m
Convert 2,810,000 cm to m
2,810,000cm + 10 = 10 = 28,100 m
Convert 94,670 cm to m
94,670cm = 10 =10 = 946.7 m
Convert 0.9202 m to cm
0.9202m X 10 X 10 = 92.02cm
Convert 929cm tom

929cm +-10+10=9.29m
Convert 44.55m to cm
44.55m X 10 X 10 = 4455cm
Convert 215.5m to cm
215.5m x 10 X 10 = 21,550 cm

Convert 897 m to cm
897m X 10 X 10 = 89,700 cm

Convert 196cm to m
196cm - 10 =10 =1.96 m
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Converting Between cm and m (J)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
< o . ! - e = o
< oD o 5 8 D 8 = 3} =
on Q — [] M — o—
) g T 2 S: 15 8 E g g
: : ———————— : : > X
G M k h da: i1d ¢ m 2 n
9 8 7 6 5 4 3 2 1:0:i-1 2 3 -4 -5 -6 -7 -8 -9
. Convert 17 m to cm
Convert 98,970 cm to m
Convert 57,850,000 cm to m

Convert 1.52m to cm

Convert 9,560,000 cm to m

Convert 2,820,000 cm to m

Convert 0.9738 m to cm

Convert 89,800cm to m

Convert 2.028 m to cm

Convert 186.6 m to cm
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Converting Between cm and m (J) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5, b 2 g §: i3 E = 3 £
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1:0:-1 2 3 4 -5 -6 -7 -8 -9
. Convert 17 m to cm

17m X 10 X 10 = 1700 cm
Convert 98,970 cm to m
98,970cm = 10 =10 = 989.7m
Convert 57,850,000 cm to m
57,850,000cm =+ 10 = 10 = 578,500 m
Convert 1.52m to cm

1.52m X 10X 10 = 152cm
Convert 9,560,000 cm to m
9,560,000cm + 10 = 10 = 95,600 m
Convert 2,820,000 cm to m
2,820,000cm + 10 = 10 = 28,200 m
Convert 0.9738 m to cm
0.9738m X 10 X 10 = 97.38cm
Convert 89,800cm to m
89,800cm = 10 + 10 = 898 m
Convert 2.028 m to cm

2.028 m X 10 X 10 = 202.8cm

Convert 186.6 m to cm
186.6 m X 10 X 10 = 18,660 cm
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